
ZF 6HP26X / 6HP28X Automatic Transmission – Spare Parts CatalogZF 6HP26X / 6HP28X Automatic Transmission – Spare Parts Catalog

FILTER GROUP GENERAL

Position # Description Quantity Notes

03.010 FILTER 1 Included in filter kit; see page 35.

03.010/014 GASKET 1 Included in overhaul kit; see page 40.

03.010/020 ROUND SEALING RING 1 Included in overhaul kit; see page 40.

03.010/030 SCREW PLUG 1 Included in overhaul kit; see page 40.

03.020 TORX SCREW 21 M6X28.5

All Rights Reserved
For a distributor in your area call ZF at 1-800-451-2595 or visit our website at www.zf.com/na.

For Reference Only ©2008 ZF Services - 21 



ZF 6HP26X / 6HP28X Automatic Transmission – Spare Parts CatalogZF 6HP26X / 6HP28X Automatic Transmission – Spare Parts Catalog

FILTER GROUP BMW 

Position # Description Quantity Notes

03.010 PAN ASSEMBLY 1

03.010/120 SCREW PLUG WITH ROUND SEALING RING 1 M30X1.5

03.010/130 SCREW PLUG 1 M10X1; Included in overhaul kit; see page 40.

03.010/150 MAGNET 2

03.010/160 CAP 1

03.020 TORX SCREW 21 M6X22.5

03.030 OIL FILTER 1

03.030/20 SEALING RING 1 Included in overhaul kit; see page 40.

03.050 GASKET 1 Included in overhaul kit; see page 40.

All Rights Reserved
For a distributor in your area call ZF at 1-800-451-2595 or visit our website at www.zf.com/na.

For Reference Only ©2008 ZF Services - 22 



ZF 6HP26X / 6HP28X Automatic Transmission – Spare Parts CatalogZF 6HP26X / 6HP28X Automatic Transmission – Spare Parts Catalog

FILTER GROUP Ford

Position # Description Quantity Notes

03.010 FILTER 1 Included in filter kit; see page 35.

03.010/150 MAGNET 2

03.020 TORX SCREW 21 M6X22.5

03.030 OIL FILTER 1

03.030/020 SEALING RING 1 Included in overhaul kit; see page 40.

03.050 GASKET 1 Included in overhaul kit; see page 40.

All Rights Reserved
For a distributor in your area call ZF at 1-800-451-2595 or visit our website at www.zf.com/na.

For Reference Only ©2008 ZF Services - 23 


